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2AM: N2
Bu: s
&2 YA 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ml 2 It 793,721 788,706 5,015
=2t 686,927 688,244 21,317
KAl 2 630,889 631,506 AB17
MRt Z 2t el 2 XA S 512,274 495,992 16,282
101 @14 dl 12,462 12,859 A 397
4 D12t ZE2XREES 12,462 12,859 A 397
OMA&A WHAMHE HHl 2EX23 12,462
>olEas 48,3003 x 124 12! 5,990
> &= 998, 2003 x2& 12! 1,997
DEsd 48,3003 x26 2 12! 1,256
> AX =Y 48,300 «6 1 290
>aaldl ¥ wshl 250,000 x6& 12! 1,500
>PEEZ 1,429,000 *14] 1,429
201 et 356,301 353,820 2,481
01 At 22l 59,300 58,500 800
O1 Let==EH| 56,150
>agniA 60,0002 570 A 34,200
>EM-2H 2,450
OXZA oHe& L AtellE 100,000 «7 700
O XA HaEd 50,0003 #35% 1,750
DPPT & MXLAIZ (K LA ARG HEEIL)
2,000,000& »23] 4,000
DEU, SE(SAI, ZIEDI)
300,000& «10CH *23] 6,000
> =2AE X 25,0003 x 15 A %128 4,500
PEMRUE C8 UL H(DSZHII)
5,000,000 = 1CH 5,000
O3 2g8=¢ 3,150
DAYMERAEE H&+H
70,000 9921 x53] 3,150
02 =24l 297,001 295,320 1,681
O1 3322 ¥ HA 282,225
DONNEESRERS 281,625
0 &7l 1,930& =17,8500H 34,451
OgpreH 300:& *820,0000H 246,000
O SIIREELS 1,630 600« 12& 1,174
DASUHEEZ SZMEREZ, XS XA
600,000& = 1CH 600
O3 Al ZHl s Xl 13,336
POEZRHI) RUESFE(DXNMEHE)
49,350, 000% *2CH *8/100 7,896
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Bu: s
Sel NN 23 EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
>E28) AU (DAMHEER)
18,000,000 »1CH *8/100 1,440
DEAN Ol0IXIEZ&2el AlAE
4,000,000 =14 4,000
O4 XA eyl 1,440
DAUERAH(s24AE) 1,440,000& = 1CH 1,440
202 (4] 34,440 34,440 0
01 2L Y| 34,440 34,440 0
OXNEMDIME R30I 2,870,000& x12& 34,440
306 EH = 20,930 20,258 672
01 &9 = 20,930 20,258 672
OXNEYMHARA LHIB 20,930,000& *14] 20,930
403 XX SHH S K201 66,677 74,615 A7,938
02 I/ 2SI CHet At 2 & CH e A B 66,677 74,615 A7,938
OXEAMN BEAAH SX 22
66,677,000 * 14 66,677
405 XtabF SHI 21,464 0 21,464
01 AL 2B F SHI 21,464 0 21,464
OHP A H 20,164,000& *14] 20,164
OPC 1,300,000 = 1CH 1,300
HE =LA A & M H 118,615 135,514 AN 16,899
101 @121 7,065 22,764 A 15,699
04 JI2ZtH 22 XNHEE =+ 7,065 22,764 A 15,699
OMNEFEINAZIA BEXRA 7,065
= 48,300 101 %1242 x50/ 100 2,995
>ANS 1,062,600& 121 x2& x50/ 100 1,063
>EEE 48,300 * 121 %262 x50/ 100 628
>ZAad &£ nSHl
250,000 =121 x6& «50/100 750
DAHAXEE 48,300 121 62! 50/ 100 145
PALAEE =m0HZ, IEEE
9,317,000 *10.035/100%50/ 100 468
DEIINALH 467,000& *6.55/100%50/ 100 16
> 04 Hi 2,000,000& 121 %50/ 100 1,000
201 LEt2AYH| 108,550 109,750 A 1,200
01 AFR2t2l Yl 103,000 103,000 0
O1 getx=2H| 101,600
e 96,350
ONMEFEIA BS+r2 96,350
LTIV
6,300& *29,000= x50/ 100 91,350
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e XA 20 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
¥ 0|2 AHIMAMA
25,000 4005 *50/ 100 5,000
DOHE FEINAZXHEXNS
60,000 258 A x50/100 750
> &40l & 60,000 x35J0 A %23] x50/ 100 2,100
DEH Y SE(SAD,ZlEDl)
300,000 *4CH x43] *50/100 2,400
O3 g4 1,400
PESMEIIRE BHLG
70,000 x10Q!1 %43 50/ 100 1,400
02 =224 H| 5,550 6,750 A 1,200
O1 2222 2 HA 4,350
DRES USH(ZEENR)
300 *29,0004 *50/ 100 4,350
O3 A& &H|l S XYl 1,200
>HP MAP S Xl E % 2,400,000& x50/100 1,200
202 04d| 3,000 3,000 0
01 2L I 3,000 3,000 0
NP MO | 3,000,000 =14l 3,000
XeA &= 38,658 39, 358 AT700
NEMEES 6,000 6,000 0
201 et Y| 6,000 6,000 0
01 AP 2t 2] H| 6,000 6,000 0
O1 t==H| 6,000
DEEE 20 I (HI2 U8 ED)
60,000& %200 &~ *53] 6,000
SRl O Al ZH &Y 32,658 33,358 AT700
201 et d| 32,658 33,358 AT700
01 AR 22l ] 10,000 4,000
O1 Bt==H| 10,000
DEMES MO o2 HE
5,200,000 =14l 5,200
D XA ADE DXAN AIAE AIZ22 2 &
Sea 400,000 122 4,800
02 2=2=24%H| 22,658 AN4,700
O3 AIE&H| RXHI| 22,658
D IFAH EAIAE S X 550,000& x12& 6,600
> X BHAISMS ZE0HHAIAE KX
4,000,000 = 1Al 4,000
DX e AZIIE ZHAIAE 2 H|
2,700,000 =14l 2,700
DICIAEE 2535 AMAY RAESE
5,000,000& =14l 5,000




2AM: N2
Bu: s
ol RYA F4 2 E )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
DA BRIF AH S
54,464,730% *8/100 4,358
KA AR ZE A 17,380 17,380 0
§=229 MEE= 17,380 17,380 0
201 Let24d] 2,700 2,700 0
01 At 22l 2,700 2,700 0
O1 get=&Hl 2,700
DEH,EE(SAILZEED
300,000 *3CH *33] 2,700
202 O4dl 7,680 7,680 0
01 = LH 4 1l 7,680 7,680 0
OXNEMARZAG S8 04l
640,000& = 12& 7,680
303 L& 3 7,000 7,000 0
01 243 7,000 7,000 0
Og=R2dNMaAL= 140,000,000& *5/100 7,000
HE2HZHI 106,794 100, 462 6,332
ol 2HHI (M=) 72,712 69,654 3,058
ol 2l (M2 72,712 69,654 3,058
101 14 Hl 72,712 69,654 3,058
01 2= 72,712 69,654 3,058
oAt 222 9,322 2621 x300 Al 2t 72,712
Jl2dH (M) 34,082 30,808 3,274
Jl2dHl (M=) 34,082 30,808 3,274
201 L2l 21,182 21,808 A 626
01 At 2t 2l 19,592 19,592 0
O1 get=2Hl 13,040
D M= 4,000 *30& 128 1,440
PEMN2I+=EH 800,000& »12& 9,600
DRlEA BHMM(SE 22lS)
2,000,000% 14! 2,000
O5 =&l 6,552
DOt 5222 7,000 #2691 x33| x 128 6,552
02 2324l 1,590 2,216 A 626
O2 A=l 1,590
DA A (L) 9203 x3CH*xBAl 2tx72Y 1,590
202 odl 4,800 4,800 0
01 = LH &4 1l 4,800 4,800 0
OJleg =80l 400,000& 123 4,800
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0

ORN2IYSF=AHI 350,000& »12& 4,200
405 TtobFH S 3,900 0 3,900
01 AL EFFHSHI 3,900 0 3,900
OPC 1,300, 000& »3H 3,900




